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Biology

(1) The members of chlorophyceae are commonly called

algae.

aﬂﬁm—s@ﬁ% e S U Qe ded ¢
SCCGL-22AUG-S2 : 35

(a) Greengrl (b) BrownHxT

(c) ReddTd (d) Yellowdtar

(2) is the number of individuals of the same species
that have come into the habitat from elsewhere during the time
period under consideration.

It St & fPal ot a8 T § S < T a9y erafy &
SR 3T B FHET iR § o 81
SCCGL-22AUG-S2 : 42
(a) NatalitySTHax
(c) Immigration3{TIarT

(b) MortalityHgax
(d) Emigration3MdT—

(3) Which of the following disease is caused by female
Anopheles mosquito?

Fafeied & 9 o1 9 AR J1eT SFAThae H7ex & BRI B 62
SCCGL-08AUG-S2: 34

(a) Chicken Pox/ad% (b) Malaria/Aafar
(c) Black Fever/®dTdl 5dR¥  (d) Cholera/%\_rﬂ

(4) Which part of the plant gives us saffron?

T BT P T U HIR el 82
SCCGL-08AUG-S2 : 35 '

a) Roots/ﬂ% (b) Petals/‘T@%?ﬁ

(c) Stem/dT (d) Stigma/R8! (Rewm)

(5) Which of the following transports water from the roots of the
plant to its leaves?

Fafafad & 4 o1 0 o et ¥ 3! Uil 9 ofd Ugandl 82
SCCGL-08AUG-S2 : 36

(a) Xylemal® GIESE)

(b) Phloemdchd (GAITTH)

() Both xylem and phloemgT¥ (SITSeiH) TUT deahd (FATTH) Gl
(d) Cortexd™ YT TS BT TR

(6) Which of the following trees shed their leaves once in a year?
fofaRed o ¥ 19 9 & a9 B Us IR ou il fiRr & €7
SCCGL-08AUG-S2 : 42

(a) Deciduous trees/‘TUfCI'I?ﬁ q&

(b) Coniferous trees/?@%lﬁ q&

(c) Evergreen trees/HIaldgR J&

(d) Both deciduous and coniferous trees/UI'UfCIFﬁ g& aur Wﬂ]ﬂ
CRKAEI

(7) Which among the following has segmented body?
fraffad 7 ¥ feaer IR RR T Uz de Tfsd g e?
SCCGL-08AUG-S3 : 34

(a) Phylum Mollusca/HIeRahT @quram Sfd

(b) Phylum Arthopoda

(c) Phylum Annellda//aﬁﬁqx_ﬂﬁ

(d) None of these Eﬂﬁ@[ﬂﬁé’ﬂﬁ

(8) Which organ has finger like outgrowths which are called as
Villi (Singular Villus)?

B Y ST TR Sl b FHM IH g8 T et B, o el
AT IHIHR FEd &7
SCCGL-08AUG-S3 : 36

(a) Large Intestine/dal 3fid
(c) Small Intestine/SIET 3fid

b) Bladder/HATRI™A
(d)Stomach/de

(9) Who discovered malaria causing germs?
TR Ham ara A &1 W faa @t 2
SCCGL-08AUG-S3 : 44
(a) Christiaan Bernard / e s=fs
(b) Charles Louis Alphonse Laveran El'IF\‘:fFjsc 3h I AT

(c) Dmitry Ivanovsky

EGIRICESH|
(d) Martinus William Beijerinck A9 fafer agwias

(10) Which of the following is not a plant hormone?

Fafifad & Q 1 I SIRUISHId &1 g 8] 87
SCCGL-10AUG-S1: 34

(a) Gibberellic/Rrsifere (b) Auxins/3{Tfaa
(c) Cytokinins (d) Thyroxin/

(11) Nephron is related to which of the following system of
human body?

frofafed & & THa IRR &1 fora gomet & 6T Feftd g2
SCCGL-10AUG-S1:35

(a) Circulatory system/URETRUT JUITelt

(b) Excretory system/G?\‘:IGﬁ PN

(c) Reproductive system/\_rFﬂuUl'lFﬁ

(d) Respiratory system/{d- PN

(12) Which Vitamin is obtained from Sun rays?

T & il @ B |1 [Ferfee ure g g2
SCCGL-10AUG-S1: 36

(a) Vitamin A/ faeTfiq ¥ (b) Vitamin ¢/ faeTfi= <t
(¢) Vitamin K/ faetfiq & (d) Vitamin D/ faeTfiq St
(13) affect the rate of humus formation of soil.

_ Te1 ggad AU &t @) &Y mifdd Ra B
SCCGL-21AUG-S3 : 32

(a) Flora & Fauna / IS 3R ot

(b)Time / JHT

(c) Temperature / dT9HTT

(d)Microorganism /ﬁ&ﬂﬁﬁa

(14) is a straw coloured, viscous fluid constituting
nearly 55 per cent of the blood.

T gl Uial 1 1 el ave Uer &, ot Yad & 3Ma
TATHT 55 UfAId ST ]

SCCGL-21AUG-S3 : 34

(a) Plasma / Uqd

(b) Formed Elements / T7Tféd TR

(c) Blood Groups / XYad dHg




(d) Coagulation of Blood / Yad-Iha-

(15) Sexual reproduction in Algae that takes place through fusion
of two similar size gametes is called?

& A AU 1 gHG! & G 9 Q9Td B g aTal e o Bl
FTHEA &7

SCCGL-21AUG-S3 : 35

(a) Zoospores /

(b) Anisogamous /

(c) Isogamous / Wﬂaﬁ

(d) Oogamous / RGTHD

(16) Animals in which the cells are arranged in three embryonic
layers are called

%?mﬁg%ﬁwmﬂwﬂumﬁm@mﬁ?ﬁ% Ei)
- |

SCCGL-21AUG-S3 : 36
(a) Diploblastic / fg®IR®
(b) Ectoderm / dTgl Il
(c) Tripoblastic / [ECARG
(d) Endoderm / 3{d:@=l

(17) Which among the following does not have a cell wall?

frafafed # @ fa 5 ik fif 6t g 82
SCCGL-11AUG-S3 : 34

(@) Euglena/*{%c‘l?l (b) Paramecium/a?T&IﬁNﬂ
(c) Gonyaulax ﬂ'ﬁi‘aﬁaﬂ (d) Mycoplasma/ﬁlﬂﬁw

(18) Which among the following is also called as '‘power house of
the cell'?

frafafed § ¥ feues! Sk &1 wfdas: f &gl o 87
SCCGL-11AUG-S3 : 35

(a) Plastids/cldah (b) MitochondriaWﬁm
() Golgi bodies/esiid™ (d) Cell wall/®IR1ebT ffy

(19) What is the role of Pneumatophores?
ECHRY &1 R B gl 87

SCCGL-11AUG-S3 : 36

(a) Protect plant from animals /ﬁﬁaﬁaﬂaﬁﬁw%

(b) Get oxygen for respiration /49 & o ST Ue ol §
(c) Supports plant in standing upright&fﬂﬁ@%ﬂ@%@'ﬁﬁ
TR bRl §

(d)Helps plant for poIIinationﬁQﬂ%WﬁWW%

8 & FoTT SIS Y ol @

(20) Which disease is caused by Nickel?
DI 1IN FAFHA S HROT 1T 87
SCCGL-11AUG-S3 : 42

(a) Itai Itai/3CTS 3CT8

(b) Dermatitis/ﬁﬂT-‘Zﬁ?I

(c)Learning disability/i:ﬁ@%l CAREEZNIAG]]
(d) Asthma/cHl

(21) With which of the following body organ is 'pace-maker’
associated?

fafafead & § o1 1 31 ¥ 09 Ao Teferd g2
SCCGL-05AUG-S3 : 34

(@) LiverciiaR (b) BrainHTsh

(c) Heartgad (d) Lungsm

(22) Haemoglobin is an important component of
SIS

SCCGL-05AUG-S3 : 35
(a) white blood cells / &d Y& HIRABTY

(b) red blood cells / TTeT Tad HIRABTY

(c) plasma / &ITGHT

(d) All options are correct / mﬁﬁmﬂé’r%‘

(23) Anaemia is caused because of deficiency of which of the
following?

fraffed & @ foog 3 B & RO T g 82
SCCGL-05AUG-S3 : 36

(a) Cobalt / PIeTee b) Iron / TTGT

(c) Sodium /@%TIT[ (d) Calcium /

(24) Which of the following represents the most complex trophic
level?

fafafed &  BIF Sfed TfYwar TR 3 gidr 82
SCCGL-05AUG-S3 : 42

(a) Community / Jqard

(b) Population / ST-EREAT

() Ecosystem / UTRIRUfd® o

(d) Species / STfaar

(25) What is the name of the hormone produced by thymus
gland?

TrE R gRT Al gr &1 o A g
SCCGL-10AUG-S2 : 34

(a) Thyroxine

(b) Auxins ST

(¢) CytokininsTTSelfdh =g

(d) Thymosin IR

(26) Photosynthesis takes place in the presence of chlorophyll

and
IR GO IR q @ SurRify A i 2
SCCGL-10AUG-S2 : 35
a) waterdmT
(b) nutrientsTIYe ded
(c) carbon-dioxide@Ta- ST§ ICNIES]
(d) sunlightqd &1 U=

(27) Which blood group is universal acceptor?
B T IGTGHE FdHID Wibdl 87
SCCGL-10AUG-S2 : 36

(@) O+ (b) O- (c) AB- (d) AB+
(28) Which of the following gas contributes the maximum to the
phenomena of global warming?

YHSHT dIIAM (eiad It & ge1 & 9a e aneH fod
T PH18?

SCCGL-10AUG-S2 : 42

(a) MethaneHIa

(b) Chlorofluorocarbon (CFC)G@I@W (?ﬂ(fm

() Nitrogen dioxide-TgIo SIS HIRITES

(d) Carbon dioxide®Ta ST33HRIES

(29) Cinnamon is obtained from which part of the plant?
N 3 5 U7 § aTerdi=t oTed o ST &2
SCCGL-10AUG-S3 : 34
(a) Stem / d-T

(c) Roots / SIS

(b) Bark / &8Tcd
(d) Fruits / ®d

(30) Which among the following carries impure blood to human
heart?




FafRad & ¥ ®1F A4 gad do 3RS I9d Ugdidl 67
SCCGL-10AUG-S3 : 36

(@) Aorta /ﬂ%T?ﬂTrﬁ

(b) Pulmonary vein / fm%aﬁw

(c) Pulmonary arteries / TS B et

(d) Vena Cava /

(31) How does a Unicellular Organism reproduce?
THPIRIB Sd P ToT T Bl 57
SCCGL-12AUG-S3 : 34

(a) Cell division / SIRIEBT faHTST

(b) Cell reproduction / CAIREIRCSEE]

(c) Cell synthesis / PITRIHT TATOT

(d) Fragmentation / fage

(32) What is the full form of DNA?

ST BT 3R =T T2
SCCGL-12AUG-S3 : 35

(a) Diribo nucleic acid / SRIZAfFAD =T
(b) Di nucleic acid / S1 gfdad 3w

() Dual nitrogen acid / S3/d TSI 3T

(d) Deoxyribonucleic acid / SRR oD

(33) Which among the following is/are female hormones?
(i) Estrogen (i) Progesterone (iii) Testosterone

Q/gﬁr@aﬁi‘r /D grAT et B Uren/ar /s
0) mej\—ﬂ (ii) TSR (iii) SRR

SCCGL-12AUG-S3 : 36
(a) (i) and (iii) / (i) T (iii)
(c) (ii) and (iii) / (ii) <TT (iii)

(b) (i) and (ii) / (i) TT (ii)
(d) Only (iii) / Bad (iii)

(34) Minamata disease is a nervous disorder caused by eating
fish, polluted with

mﬁnwﬁﬁw%ﬁ_@m%—cﬁ$®m®
I

SCCGL-12AUG-S3 : 42

(a) Iron / @18 (b) Mercury / URT

() Lead / T (d) Nickel / fR&a

(35) Potato, tomato and brinjal are three different species but all
belong to which genus?

3T, THTER 3R &7 o faft ot (wditefien) § g 3 frg dw
(o) 3 Siafd ema &2

SCCGL-17AUG-S1: 34

(a) Solanum/&TeTH (b) Panthera/JRT

(c) Felis/thfer (d) Tigris/feTia

(36) The first formed primary xylem elements are called
T UEA S A1 Ui SIgad o &l FEAS|
SCCGL-17AUG-S1 : 35

(a) Metaxylem/HeTolTSad

(b) Protoxylem

(c) Xylem fibres/STgaH dg

(d) Xylem parenchyma/ﬁlﬁﬂﬁm

(37) Nereis, Pheretima (Earthworm) and Hirudinaria (blood
sucking leech) are examples of which Phylum?

AR HRfear (@gaim auT gefenRal Radayd slis) feg I9 &
EARRECH

SCCGL-17AUG-S1: 36

(@) Coelenterata/ﬁlﬁ%@' (b) Aschelminthes/ﬂ@ﬁlﬁ?—ﬂﬁ

(c) Annelida/@ﬁﬁ']@T

(38) Cattle quickly swallow grass and store it in their
SCCGL-09AUG-S1: 34

(a) rumen / UYH ATHRT

(b) esophagus / Ui -AfreT

(c) small intestine / Bl 3fid

(d) salivary glands / @R UfaT

(d) Arthropoda/\’rﬂzﬁ:q-’l?ﬂ

(39) Which of the following carries oxygen to various parts of
human body?

frofofad & @ 19 oM TRR & f3fle sl &1 sifafior ae® 77
SCCGL-09AUG-S1: 35

(a) Red blood cells /Fﬂﬁmm

(b) White blood cells / 4d Iad HIRBTE

(c) Plasma / WITSHT

d) Nerves / aﬁw

(40) Which of the following function is performed by the kidneys
in the human body?

T IRR & T[S 378 Y S T B HRd 87
SCCGL-09AUG-S1: 36
(a) Excretion / IToA (b) Respiration / I

(c) Digestion / UTaq (d) Transportation / URdg=
(41) What is the name of a group of similar cells performing a
specific function?

T fa2N B B aTd TH bITAb13H b TG DI 1 Hed &7
SCCGL-09AUG-S2 : 35

(a) Tissue / Hddh

(b) Organ / 3T

(c) Organ system / 3T @3

(d) Cellular organization / PIRBIT T

(42) Plant tissues are of how many types?
rell & FHefeh e UbR & B 7
SCCGL-09AUG-S2 : 36
(a)3 (b) 2

(©5 (d) 6

(43) UV rays coming from Sun, majorly causes which cancer?
T @ 31 areh bRl & ToTa: B |1 bR Eiell 87
SCCGL-11AUG-S1: 34

(a) Lungs cancer /WWW’[

(b) Liver cancer / IR BT HHINT

(c) Mouth cancer / g &1 HaHRINT

(d) Skin cancer / T BT HHRIT

(44) Which of the following is the largest mammal?

fafefad & o1 a1 Turh fawmeray 82
SCCGL-11AUG-S1: 35
(a) Whale / =d (b) Rhinoceros / )|

(c) Elephant / greft (d) Human / HIHd
(45) What is the full form of RNA?

3RUAT. BT SfE =0 1 82
SCCGL-11AUG-S1: 36

(a) Ribonucleic Acid /TI"{@W ﬁfﬁlg

(b) Ribonitric Acid / Trg&ﬁ:rs@a?ir%

(©) Ribonutrient Acid / ISl Igiaf< URIS

(d) Reverse Nucleic Acid / ﬁaﬁwm

(46) Kyoto Protocol's (an international treaty to reduce
greenhouse gas emissions) first meeting was held at which




country?
el Uieteid &1 gyH RRaR T e fo o3 H smaiford favar
qT?

SCCGL-11AUG-S1 : 42

(a) USA / Tgad I 3MRaT
(c) Japan / SITUTH

(b) Germany / S
(d) Switzerland / %E\_:Rag

(47) Who among the following devised the technique IVF (In
vitro Fertilization)?

fFraferied @ & e Ediue (3 faet wicemgoer a1 5 fael
THIYT) TN B T B i

SCCGL-11AUG-S1: 44

(a) Sir Frank Whittle / W%%Eﬁ

(b) Robert Edwards / @< TSaay

(c) Edward Jenner / Q@T:Fsc SR

(d) Dr. Martin Cooper / 8. HT[¢ HWR

(48) Which of the following are longest cells of human body?
fafifad o I 19 W 99 IR B Tad 991 HIRET §?
SCCGL-11AUG-S2 : 34 .

(a) Pancreatic cells &waﬁmﬁ

(b) Epethelial cells ST IR

(c) Nerve cells AT HIRBTT .

(d) Epidermal cells WW

(49) Which of the following is responsible for giving colour to
human skin?

fafafed 7 @ IF 7 @1 &1 T UeH B & ol ITReR 82

SCCGL-11AUG-S2 : 35
(a) Luciferin qﬁl’eﬁﬁ? (b) Haemoglobin HEIICE]
(c) Flavonoids TITaHIZSY (d) Melanin Aafad

(50) Which of the following disease is non-communicable in
nature?

FrofaRed 7 9 o1 I fou sRisme vafa &1 87
SCCGL-11AUG-S2 : 36
(a) Cholera %\_rﬂ (b) Chicken-pox EECY

(c) Tuberculosis &g I (d) Cancer B T

(51) Which of the following three R's are regarded as

environment friendly?

frofoied & 9 o1 3 dF R iU & S[EHd A 1 87

SCCGL-11AUG-S2 : 42

(a) Reduce — Reuse — Recycle ®H DA - Y TN AT - g:

Tfehd BT

(b) Reduce — Reuse — Reutilize & BT - G: TRIRT AT -

TRIGA HRAT

() Recollect — Reuse — Reutilize TH: T AT AT - TH: TN HAT

- BT

(d) Reduce — Renew — Reutilize &8 BT - FAHIHRON HRAT - G:
PRAT

(52) Which of the following pair/pairs is/are INCORRECT?
frafifad & ¥ 19 9/ gH 98 T8l 8/87

I. Golden revolution - Fruits production

II. Blue revolution - Increasing production of fertilizers

I1l. Yellow revolution - For the production of eggs
SCCGL-12AUG-S1: 26
(@) Only |

(c) Both I and Il

(b) Only Il
(d) Both Il and 11l

(53) Which component in tobacco makes it harmful for human
consumption?

TIH BT B T e IY AT SUHNT & o BIHSRS 11 82

SCCGL-12AUG-§1 :34
(@) Morphine / AIHH (b) Nicotine / IBCAE]
(c) Heroin / %i Rl (d) None of these / S‘Fﬁ @Tﬁ'scﬂfﬁ

(54) What is full form of BOD?

3B, o1 arifdra wu T R

SCCGL-12AUG-S1: 35

(a) Biological Oxygen Deficit / SIS 3o Sfthiie

(b) Biological Oxygen Difference / TG TR [Shed
(c) Biological Oxygen Demand / CIRIGISEREIE N EA RIS

(d) Biological Oxygen Distribution / STATATIG e
fSesg

X

(55) Alveoli is related to which of the following system of human
body?

fraferad # F AFa IRR F1 fvg et § wierdich eifi 7
SCCGL-12AUG-S1: 36

(a) Circulatory system / GIR¥@RUT JOTC

(b) Excretory system / IFoi TRt

(c) Reproductive system / NSRRI

(d) Respiratory system / 48 PN

(56) What is study of fungus known as?
Bha U1 Had P LT D] I Hed 82
SCCGL-12AUG-S2 : 34

(a) Physiology / TRR fopaifagm (hfsraerion)
(b) Phrenology / mﬁﬁﬁ

(c) Mycology / @dd fagH

(d) Biology / Sfld faz

(57) Which of the following bacteria is responsible for the
formation of curd?

fraffad & @ &9 91 Shtary] &8l & 76 & o STverdt g 87
SCCGL-12AUG-S2 : 35
(@) Lycopodium / asaﬂuﬁ%m (b) Yeast / THR (EﬂE)

(d) Fungus / %< IT hddh

(c) Lacto-bacillus /

(58) How many pairs of ribs are there in human body?
g TRR H ugierdl & fbam S &2
SCCGL-12AUG-S2 : 36
(a) 13 (b) 11

()12 (d) 14

(59) Which of the following has maximum bio-diversity?
fofofed # @ sifiean ora fafayar fead gt o2
SCCGL-12AUG-S2 : 42

(a) Desert / HER[A

(b) River / 7Tl

(c) Polar Region / ?g?ﬁn &=

(d) Tropical Region / JUHICTY &

(60) Red rot is a disease caused to which of the following plant?
T TSty (S e fourdt Fafafad & 3 frw ad &) gt 87
SCCGL-09AUG-S3 : 34
(a) Paddy YT

(b) Sugarcane T
(c) Mustard Rt

(d) Wheat 7§

(61) Which among the following is not a connective tissue?
fFafafed # 9 oF te 9ael SHas T8l 82
SCCGL-09AUG-S3 : 35

(a) Blood Yo (b) Bone3(f¥Y




(c) Skin W@ (d) Cartilage AT (TR siefT i)
(62) Which of the following micro-organism causes diseases like
polio and chicken pox?

Fafafea o 3 19 3 geasid Difea aur 3 (e ure) st
TR famieat & HRrg?
SCCGL-09AUG-S3 : 36
(a) Bacteria

(c) Algae

(b) Protozoa IS
(d) Virusfasmg

(63) Which type of forests majorly comprises of lichens and
mosses?

59 R & o1 Td: AaTal a1 HT8 I &9 8Id 87
SCCGL-16AUG-S1: 32

(a) Taiga forests / M

(b) Tundra forests / ¢UST d-

(c) Temperate mixed forests / gyefidrer g9

(d) Tropical ever green forests / IUH g TaraeR a4

(64) Night Blindness is caused by deficiency of which of the
following Vitamin?

frfafed & @ ford faerfie ot St & SRl gt 82
SCCGL-16AUG-S1: 34

(a) Vitamin B / fdeTf & (b) Vitamin C / faeTie |t

(c) Vitamin K / faeT# & (d) Vitamin A / faeTii T

(65) The right portion of human heart receives ______ blood.
T §&T BT IRl HFT -----mmmmmee o U Rl ]
SCCGL-16AUG-S1: 35

(a) pure / &

(b) impure / 3R

(c) mixed /&I@ﬁ

(d) None of these / E:Iﬁ @faﬂs‘q@

(66) Which of the following is the largest gland in human body?
e & & H AFa IRR 3 e 91 32
SCCGL-16AUG-S1: 36

(a) Thyroid / Ty (b) Liver / PR

(c) Kidney / ‘J,Ef (d) Pancreas / 3R

(67) In which of the following part of the cell does the pyruvic
acid is broken down into carbon dioxide, water and energy?

ffafad & O forg ST 31 §f U= iadd i gedhr Hla ST

ffeaTse, oid auT Soll § gRafdd 8 oirdi 87
SCCGL-16AUG-S2 : 34

(a) Cytoplasm PIDT G (b) Nucleus Gt

(c) Mitochondria g3 B0 (d) Chloroplast 8Rd ddd®

(68) Which blood group is universal donor?
DI AT IGAGYE TSIl BT 82
SCCGL-16AUG-S3 : 34

(a) O+ (b) O- (c) AB—- (d) AB+
(69) In how many parts is the human brain divided?

TS 1 AT b 1l & faviiord 82

SCCGL-16AUG-S3 : 35

(a) 2 (b)3 (04 (d)5

(70) In the names Mangifera indica (mango), Solanum
tuberosum (potato) and Panthera leo (lion), what does the three
names, indica, tuberosum and leo, represent?

BHofthaT SFEHT (31TH), AT AR (37 3R YT farsh 2[R)
3 AT H 3T, egdiRem qu ferei oo ufafAfia #var 82

SCCGL-17AUG-S2 : 34

(a) Binomial Nomenclature / fgus ugfa
(b) Taxonomic Hierarchy / qififepY BIRCZ
(c) Identification / UgdT-T

(d) Specific Epithet / STt & Hdbd Uq

(71) are chlorophyll-bearing, simple, thalloid, autotrophic
and largely acquatic (both fresh water and marine) organisms.

, IR, YIS, TUNT T HA:
AT (SO T qUT T ST 1) oid &

SCCGL-17AUG-S2 : 35

(a) Pteridophytes /

(b) Bryophytes /

(c) Algae / JaTdl

(d) Gymnosperms /

(72) Animals like annelids and arthropods etc where the body
can be divided into identical left and right halves in only one
plane, exhibit symmetry.

QAfRTS 3R aimeifes, e & weh & ofel Q ToR areh 3 gRT IRR
I YUY T g 91T HIT | §7eT off Il g | 39

Tafifd Hgd |1

SCCGL-17AUG-S2 : 36

(a) Coelenterata / ﬁlﬁ@ﬁ (b) Radial / 3R

(c) Ctenophora / ANHR (d) Bilateral /w

(73) The later (second) formed primary xylem elements are called
I IR BRI ID] CART | e e 7] E— Fed gl
SCCGL-17AUG-S3 : 35

(a) Protoxylem / UTeIoTSaH

(b) Metaxylem /
(c) Xylem parenchyma / SIIgciH ﬁWl?zﬂT
(d) Xylem fibres / STS@H d=g

(74) Which of the following does not hold true for Animal
belonging to Phylum Chordate?

T A DI 1 FY Togob! I TeifiId SHaR! & forg wet et 82
SCCGL-17AUG-S3 : 36

(a) Notochord present / Tt 359 IR giaT g

(b) Pharynx perforated by gill slits. / TG B I g oTe o §
(c) Heart is dorsal (if present) / gad Y& ‘J-H"TﬁﬁﬂT% (3R
IuRRYT B)

(d) A post-anal part (tail) is present / WW-WG’Q@H%)

(75) Any undesirable change in physical, chemical or biological
characteristics of air, land, water or soil is called?

aTg, YWY, 5Td a1 & Wi, IEie a1 Sfaw sfydenit # g9
GGG CIR R0 Re | R — FHEAT g
SCCGL-17AUG-S3 : 42

(a) Greenhouse effect / e UHId

(b) Solid wastes / 3 3ufre

(c) Pollution / UgyUT

(d) Deforestation / I -IE

(76) Other name of Platelets is?
1 g8 AT T 87
SCCGL-18AUG-S1: 34
(a) Leucocytes
(b) Erythrocytes XacTJ] (Eﬁghﬂﬁrf)
(c) Platelets JefeahTT] (Weaed)
(d) Thrombocytes ?«hﬁﬁw




(77) In stems, the protoxylem lies towards the centre and the
metaxylem lies towards the periphery of the organ. This type of
primary xylem is called

%ﬁ B TeTSaH 5 B 3R qUT ATSGEAH B - mmememe HEd
I

SCCGL-18AUG-S1:35

(a) Xylem fibres ST dq

(b) Xylem parenchyma SITgciH

(c) Exarch dTgl

(d) Endarch Acared

is the second largest animal phylum.

............. TR I 37 oft T B

SCCGL-18AUG-S1 : 36
(b) Chordata Iso[eht

(a) Mollusca HIeR®
(c) Coelomates Elﬂ'spf (d) Anneldia Qelﬁ‘l?ﬂ

(79) Presence of large amounts of nutrients in waters also causes
excessive growth of algae.

ST & 1% T § TS} &1 SURITH F HROT <nmmmmeee
aTd Bt =R G Bt Bl

SCCGL-18AUG-S1 : 42

(a) Biomagnification Sq 3

(b) Algal bloom RaTd UG

() planktonic Wa®

(d) Eutrophication {I@IWUT

(80) Lion, Leopard and Tiger are all species of which genus?
R, T 3R TR T i Wit fopw 921 H St 52
SCCGL-18AUG-S2: 34
(a) Solanum /?ﬁﬁ’l‘q
(c) Felis / Wferd

(b) Panthera / TRT
(d) Tigris / fenig

(81) are made up of sclerenchymatous cells. These are
generally absent in the primary phloem but are found in the
secondary phloem.

R BTSH PIRIBTSN & 54 BId & | 3 UI: TP
TTen & T U oi; A 3 e veied # 35d ¥
SCCGL-18AUG-S2 : 35

(a) Xylem fibres / \_rl'lg?ﬂ:[?‘l@

(b) Xylem parenchyma / STigciH ﬁi?ﬂsm

(c) Phloem parenchyma /W’Q’q W@:ﬂ

(d) Phloem fibres / Wﬂﬂ

(82) What type of a body plan does coelenterates, ctenophores
and echinoderms have?

?ﬁ%ﬂ,ﬂ?ﬁtﬁ?ﬁ?@@?ﬁ%ﬁaﬁwmﬁrﬁwaﬁ@?ﬁ

SCCGL-18AUG-S2 : 36
(@) Annelida / Qal NS
() Bilateral / FCIRE]

(b) Radial / 3R1T
(d) Platyhelminthes / @'@%‘fﬁlﬁ\_ﬂ

(83) In the names Mangifera indica (mango), Solanum

tuberosum (potato) and Panthera leo (lion), the terms Mangifera,

Solanum and Panthera represent the higher level of?
HONThRT ST (311H), TRI-H STIRIH (A1) TR farail (RIR) =7t
%ﬁwg%ﬁ ?@ﬁwaﬁ?%ﬁm%wmqﬁﬁ%m

SCCGL-18AUG-S3: 34

(a) Taxon / HtGa

(b) Taxonomic Hierarchy / WW
(c) Specific Epithet / STTfd & Hdbd Ug

(d) Binomial Nomen clature / f§Ugm™ ugfd

(84) Which of the following is one of the commercial products
obtained from Gelidium and Gracilaria and are used to grow
microbes and in preparations of ice-creams and jellies?

fmfafed # 9 oH-91 auiie Iar Safeaq sik IRafar 3
forere & forTesT ST ge Sifadl & TaeH & qur smeehid 3R
Sl 59 forar ST 82

SCCGL-18AUG-S3 : 35

(a) Agar / TR (b) Chlorella / FARET

(c) Spirullina / WE_"” (d) Gymnosperms /

(85) Taenia (Tapeworm), Fasciola (Liver fluke) are examples of
which Phylum?

A wiare ), BRI @uigH) g 9 % 3aex g2
SCCGL-18AUG-S3 : 36

(a) Coelenterata / ﬁlﬁ?ﬂ

(b) Platyhelminthes / S

(c) Annelida / ﬂﬁﬁ‘l@T
(

d) Arthropoda / 3(TfTTST

(86) Which one of the following is not a Major Abiotic Factors?
FAfITRIT § § B 91 T 3d SRS T8l 87
SCCGL-18AUG-S3 : 42
(a) Temperature / dTUHTA
() Light / UhIRT

(b) Water / ol
(d) Air /d1ig

(87) The male sex accessory ducts include vasa efferentia,
epididymis, vas deferens and

w%w%ﬁ%&wﬁrmﬁ%wm
SIRERIUMRT: e | [ 28] p A —

SCCGL-19AUG-S1 : 34

(a) Cervix / TTHTRIT Tar

(b) Rete Testis / quUT W

(c) Glands / Tifai

(d) Seminiferous Tubules / WW

(88) The meristem which occurs between mature tissues is
known as meristem.

e AREH R Iae] & 99 81 & T9 Y < mov Ao
HEA G|

SCCGL-19AUG-S1: 35
(a) Intercalary / Sfca=ht

(c) Lateral /

(b) Primary / W48
(d) Apical /

(89) Which of the following Phylum are also called flatworms?
frfafad o 9 fo wean & aue $H off w1 @ 82
SCCGL-19AUG-S1: 36

(a) Mollusca /W

(b) Chordata / Qﬂ—dﬁ

(c) Ctenophora / TR

(d) Platyhelminthes / @fegferRrsT

(90) During the past century, the temperature of Earth has
increased by
T ST} & et B ATgH - Gl
SCCGL-19AUG-S1 : 42

(a) 0.6°C (b) 1.6°C

() 2.6°C (d) 3.6°C
(91) Order Primata comprising monkey, gorilla and gibbon is
placed in class Mammalia along with order Carnivora that
includes?

TS HeT 707 ford sfar, Mived SiR fissie ord & I Aafer avf
HRATART 707 & AT T 71 & Forerdt a2 &2




SCCGL-19AUG-S2 : 34

(a) Giraffe, Camels and Elephants / \_:ﬁTITﬁ, Y GﬁTET?ﬁ

(b) Crocodile, Lizard and Snake / ATRF=3, fesuapef! 3R Fiq
(c) Lion, Leopard and Tiger / TaT, drar Gh?E'I%TR

(d) Tiger, Cats and Dogs / dT4, foeett Gﬁ?W

(92) In roots, the protoxylem lies towards periphery and
metaxylem lies towards the centre. Such arrangement of primary
xylem is called

o | wersgad aRkfy ot T o 1 iR B § o Heroia g @ iR
Bld §1 39 YBR o SIGTHH B -----------—- ®gd ¢
SCCGL-19AUG-S2 : 35

(a) Xylem fibres / SIIgetH dg

(b) Xylem parenchyma / SITgeH BREIES|

(c) Exarch / 9Tl

(d) Endarch / AEGGR®

(93) Which is the only one example of Mollusca Phylum?
T @ BH-91 AT T BT ThHH IaER0 82
SCCGL-19AUG-S2 : 36
(a) Locust / ﬁ@

(c) Scorpion / ﬁ?gg

(94) In male reproductive system, the testes are situated outside
the abdominal cavity within a pouch called

wwa%ﬁémww%wwﬁﬁmﬁﬁ%

(b) Butterfly / fafcreit
(d) Octopus / 3faeay

SCCGL-19AUG-S3: 34

(a) Glands / Ufgi

(b) Scrotum / GG

(c) Testicular Lobules / g0 UTfcidsT

(d) Seminiferous Tubules / Y[hol-Tds AcTbTY

(95) Which of the following is not among the 3 main classes of
Algae?

fEfead # § S19-91 Qara & o9 ugE i § T 82
SCCGL-19AUG-S3 : 35

(a) Chlorophyceae /

(b) Rhodophyceae / ASTHTSH

(c) Phaeophyceae /

(d) Gymnosperms /

(96) Sycon (Scypha), Spongilla (Fresh water sponge) and
Euspongia (Bath sponge) are examples of which Phylum?
TIZH (ATIT), WTAT (e T W) R JRUforT @y )
o T & IaTer0T 57

SCCGL-19AUG-S3 : 36

(a) Coelenterata /ﬁlﬁ?ﬁ'[

(b) Platyhelminthes /

(c) Ctenophora / TR

(d) Porifera /

(97) A multicellular organism growsby
G [ QR sRigedRdel
SCCGL-20AUG-S1: 34
(a) Cell addition / HIRTBT SHfADHT
(b) Cell explosion / CAINEARGRR AT
(c) Cell implosion / PIABT 3d-Thle
(d) Cell division / PIRIT fAHTSH

(98) The male sex organs in a flower is the

g5y A e ST oo g

SCCGL-20AUG-S1:35

(a) Zoospores / W

(b) stamen / W

(c) pistil / SR

(d) Chlorophyceae / a%ﬁﬂu?s@r

99)

In animals like Annelids, Molluscs, organs have associated to
form functional systems, each system concerned with a specific
physiological function. This pattern is called system level
of organization.

TToft T SR TS, & ST e 43 & U H TRING &1 v §
TS 0 U AR B H3a1 81 59 IRG BT WRGAT ----------- &
TR P W69 Hgl oIl & |

SCCGL-20AUG-S1: 36

(a) organ / 3RTA b) open / ol

(c) closed / g (d) coelom / W8T

(100) is the number of deaths in the population
during a given period.

------------ Tg <t Tt orafdy gufe & g1 areht Hidl &t 9B 5
SCCGL-20AUG-S1: 42
(a) Natality / STH&R

(c) Immigration / YA

(b) Mortality / Hgax
(d) Emigration / SHATIA

(101)

soil formation.

gafﬁn‘rmﬁ_ercrw R BgAd fHfor % &R &I yifed
|

SCCGL-20AUG-S2 : 32

(a) Flora & Fauna / I fasiTd 3R TIOTeid

(b) Time / 9HT

(c) Parent rock / ST ST

d) Climatesieldrg

influences the rate of weathering and humus in

(102) A healthy adult man has, on an average, (in
millions) of RBCs mm-3 of blood.

U W % Afad § @y (e iy & ved et g |
SCCGL-20AUG-S2 : 34
(@5-55

()3-35

(b)4-45
(d) 6-6.5

(103) The female sex organs in a flower is the
qw ¥ HreT AT 3T g
SCCGL-20AUG-S2 : 35

(a) Zoospores / W

(b) stamen / W

(c) pistil / TATHIR

(d) Chlorophyceae / FARIEGST

(104) Animals in which the cells are arranged in two embryonic
layers are called

mggmawwuim@m@?ﬁ%ﬁ
B |

SCCGL-20AUG-S2 : 36

(a) Diploblastic fgeIR® (b) Extoderm / STgT &4l
(c) Tripoblastic / [ECARGa (d) Endoderm / 3id: =l
(105) is the most ecologically relevant environmental

factor.
TRfUfas 0 ¥ g8 el URifie gaiaRulit $Re ¢ |
SCCGL-20AUG-S2 : 42

(a) Water / Sl (b) Temperature / dUHIA




(c) Light / YT (d) Soil / Hal

(106) Biological names are generally derived from which

language?

Sfaes = U forg 1T 9 U gid &2

SCCGL-21AUG-S1: 34

(a) French / Wi (b) Latin / aifest

(c) Mexican / AfegepT (d) German / SHT

(107) The members of rhodophyceae are commonly called
algae.

ASBTE & TGN Bl ;- Qa1 8 g

SCCGL-21AUG-S1:35

(@) Green /&1 (b) Brown / T

(c) Red / T (d) Yellow / dte

(108) Aurelia (Medusa) and Adamsia (Polyp) are examples of
which Phylum?

Rferar (Figam R veHRmEr @) by 99 & Iereu 82
SCCGL-21AUG-S1:36

(a) Ctenophora /’éﬁmﬂ?

(b) Annelida / Qﬁﬁ‘l@'ﬂ

() Coelenterata / Ridier

(d) Aschelminthes / TR ATHRIST

(109) A few organisms can tolerate and thrive in a wide range of
temperatures. Such organisms are called .
AUH! & TP TR (TH) g P Thd § SR STH
RERCT A [ (R — HEAd & |

(a) Osmotic / TRTIRUR
(c) Stenothermal / dgaTdt

(110) Based on the common features like presence of notochord
and dorsal hollow neural system, animals like fishes, amphibians,
reptiles, birds along with mammals are included in which
Phylum?

TP U T O Yooy (AICIhle) a1 TSI WRadl T o
F YR R WO S A3, IHTER T, Ueft 3R TRt &1
fora Ty o a1 T 87
SCCGL-21AUG-S2 : 34
(@) Mammalia /ﬁ'ﬁﬁi’cﬂ
(c) Primata /Uléﬁ—c'

(b) Eurythermal / Gydreidt
(d) Hydrothermal / SSOTSTI

(b) Chordata / Prsel
(d) Insecta / E’RQTET

(111) The members of phaeophyceae are commonly called

algae.
BINBEY & e B UT: - aTd Hed g
SCCGL-21AUG-S2 : 35
(a) Green /&1 (b) Brown / T
(c) Red / AT (d) Yellow / diar

(112) Asterias (Star fish), Echinus (Sea urchin), Antedon (Sea Lily)
are all examples of which Phylum?

TRRTY (ARWH), ThTST4 (FH- 3ife), TSI (e ferefh walt
g Tu & ISR 7

SCCGL-21AUG-S2 : 36

(@) Echinodermata / Uh s:i ST

(b) Annelida /

(c) Platyhelminthes / Wi

(d) Arthropoda / 3nyfareT

(113) A few organisms can tolerate and thrive in a narrow range
of temperatures. Such organisms are called

BB Sl1d YA B HH IR (FRH) g1 PR Fhd © 3R ITH Q&
LSRR f—— FHEAd g

SCCGL-21AUG-S2 : 42

(a) Osmotic / RTRf

(b) Eurythermal / GYdreTdt

(c) Stenothermal /

(d) Hydrothermal / SSTSIci

(114) In females, the ovaries are located ____ on each side of
the lower abdomen.

Afgenstt #, IR Fad UM F ST 3R ____ i Ryd g g
SCCGL-22AUG-S1: 34
(a) One / U

(c) Three /?‘ﬁ‘f

(b) Two / &I
(d) Four /@R

(115) Through photosynthesis at least a half of the total carbon
dioxide fixation on earth is carried out by?

BT YAV & HEH I $d RGT BaTSR3RIZS B
THTHAT 37181 YT gedt R B REpd Bar 87
SCCGL-22AUG-S1: 35

(a) Pteridophytes /

(b) Bryophytes /

(c) Algae /

(d) Gymnosperms / e

(116) Locust, Butterfly, Scorpion and Prawn are all examples of
which Phylum?

fogh, foaeh, foeg SR g ot g 99 & Jeeru 22
SCCGL-22AUG-S1: 36

(@) Annelida / Qﬁﬁ'l?ﬂ

(b) Chordata / W

(c) Arthropoda / KhHjiei
(d) Platyhelminthes / @egffu

(117) In females, the uterus is .
Afgemst & mferg - BT gl
SCCGL-22AUG-S3 : 34
(@) Single / Th

() Triple/ﬁl’ﬂ*ﬂ

(118) Which of the following is not correct?
ffofed & 9 & 91 98t T 87

SCCGL-22AUG-S3 : 35

(@) Membe rs of Chlorophyceae are commonly called green
algae

FIRIPTHT & Tawl P g AT $8d |

(b) Members of Phaeophyceae are commonly called red algae
BRIEEY S Je@b S |l Adid bed ol

(c) Members of Rhodophyceae are commonly called red algae
A b Y&l B |l Adrd bed 2

(d) Members of Phaeophyceae are commo nly called brown
algae

fopaprge & Towl Y Y1 AdTd Ped Bl

(b) Double / g
(d) Four /@R

(119) Adamsia (Sea anemone), Pennatula (Sea-pen) are examples
of which Phylum?

. (g% UEE), Tregan (@qst fUss) 6y 99 & Iamrul
?

SCCGL-22AUG-S3 : 36
(a) Coelenterata / ﬁlﬁ%ﬂ (b) Aschelminthes / Q@v_c‘lﬁ—%ﬁ\_ﬂ
(c) Annelida / @31 TS (d) Arthropoda / 3Nyt




(120) The shape of the outer part of the ear is like a

EZREACIERURY e )i p— SRft g &1
SCCGL-22AUG-S3 : 38

(@) funnel /ao“rq (b) plate /@'c.r

(c) drum / SH (d) disc /%W

(121) In each testes in a male reproductive system, there are
compartments called testicular lobules.

oY S T b T guul H TTHT el BId § forg
gy YTferepT HEd B

SCCGL-23AUG-S1 : 34

(a) 150 (b) 200 (c) 250 (d) 300

(122) The predominant stage of the life cycle of a moss is the
gametophyte which consists of two stages. The second stage is
the stage.

e T B TUIS AR THHIEIIE Bl 8, Rrgas! af SR
e g gud R ®
SCCGL-23AUG-S1 : 35

(a) Agar / TR

(c) Chlorella /Tﬁ‘lﬁ?ﬂ

b) Leafy / Uil
(d) protonema /U¥UH dg

(123) In Animal Kingdom classification, which of the following is
not a Phylum?

roft ST & arffen<or & fuferiad § 3 o g gt 87
SCCGL-23AUG-S1:36

(a) Mollusca / Hidh (b) Chordata / IS[e!
(c) Coelomates /EI'{J,'GDT (d) Anneldia / @ﬁ s
(124) The are the primary female sex organs that

produce the female gamete (ovum) and several steroid
hormones (ovarian hormones).

i & Ui Affes ST 3 o it gies (73T / Siiam)
3R B3 WG T (STl grH) BT I B B
SCCGL-23AUG-S2: 34

a) Cervix THTR War b) Uterus THIR
(c) Ovaries 3/€RY (d) Clitoris HTRI%
(125) Bryophytes are also called of the plant
kingdom.

STBIE B! UIGY STd & W oegd g
SCCGL-23AUG-S2: 35

(a) Mammals T (b) Amphibians STETRITTR

(d) Insecta S:IQEET

(126) Animals belonging to phylum are

fundamentally characterised by the presence of a notochord, a

dorsal hollow nerve cord and paired

pharyngeal gill slits.
9% wiiorl ¥ i gayd A& —gy Is] gy It

ST T T g T a g U ST § |

SCCGL-23AUG-S2: 36

(@) Annelida fﬁﬁ‘l@ﬂ

(b) Chordata Prscr

(c) Arthropoda 3nyfareT

(d) Platyhelminthes @fegfamiw

(127) is any attribute of the organism (morphological,
physiological, behavioural) that enables the organism to survive
and reproduce in its

habitat.

S B PIE U THI U (SBIRDIY, BIRTD,

(c) Reptiles RUEEIG Nq

IEIRD) B S I 3T 3Ma H Sifdd 94 76+ 3R o &1 &
iy ST B |
SCCGL-23AUG-S2 : 42

(a) Adaptation 3fJH
(¢) Conformation I340]

(b) Migration Wdrd
(d) Regulation @

(128) Classes comprising animals like fishes, amphibians, reptiles,
birds along with mammals constitute the category called?

i R oig SR TS, IHTR, T8, Teft ofR WY 3§,
fra ooft Bt g w=a g 2
SCCGL-23AUG-S3 : 34

(a) Species STt @Qﬁﬁl )
(c) Kingdom SITTd (ﬁ?’"l@'q)

(b) Genus G (SIFY )
(d) Phylum TY (BTSTH )

(129) The predominant stage of the life cycle of a moss is the
gametophyte which consists of two stages. The first stage is the
stage.

ST b &1 UHTd AR T IEE Bl 3, ORI & Sfay
SR Ugel s R

SCCGL-23AUG-S3 : 35
(a) Agar WIR

(c) Chlorella FARAT

(b) Leafy Tt
(d) protonema UYH dg

(130)
insects.

is the largest phylum of Animalia which includes

Toft ST T T ST 99 8, o e ot afifera @
SCCGL-23AUG-S3 : 36
(b) Chordata ®lsel

(a) Annelida Qﬁ s
(d) Platyhelminthes ﬁ%ﬁ@ﬁ

(c) Arthropoda STUTITST
(131) Many freshwater animals cannot live for long in sea water
and vice versa because of the problems they would face.

g AU STt U0 S S U A SR G Sefav o B

U dP -To X8 Udhd; Fld 35 AT BT JTHAT
B IS |

SCCGL-23AUG-S3 : 42

(a) Osmotic TRIRURY (b) Eurythermal qgmw

() Stenot hermal AUl (d) Hydrothermal JWISTed

(132) Wheatisa__

BT 3l

SCCGL-05AUG-S1: 34
(a) Creeper Id
(c) Shrub ETITsp[

(b) Herb 31Sfr
(d) Tree d&

(133) Snakes, turtle, lizards and crocodiles falls under which
category of animals?

T, g, U auT TR Sigsit & few 9oft & 31d g2
SCCGL-05AUG-S1: 35
(a) Pisces HI

(c) Reptilian ﬂﬁﬁq

(134) The scientific name of human being is?
A4 BT AP TH 1 82
SCCGL-06AUG-S1: 34

(@) Homo N igrum E‘Iﬁfﬂﬁﬂ

(b) Melongen a Sapiens ERISEIEIERE

(c) Homo Sapiens Eﬂﬁf@ﬁw

(d) Tigris Solanum fenfeg OrH

(b) Amphibian ST¢T-R¢ER
(d) Aves Teft

(135) In a majority of flowering plants, out of the four
megaspores, what is the ratio of functional and degenerate
megaspores?




SfferaTer gudt redl & IR Toetonupet § ¥, HriRid ok

3[UfIeBRId B3 BT U ol Bl 37
SCCGL-06AUG-S1: 35
(@) 2:2 (b) 1:3 (c) 3:1 (d) 4:0

(136) The body of all complex animals consist of only
basic types of tissue(s).

gt Sfed wrort &1 TRR Had --------- UBHR b MYRYT Sl
HTFEA B

SCCGL-06AUG-S1 : 36

(a) 4000 (b) 400 () 40 (d) 4

(137) Which is the longest bone in human body?

T® & TRR F qa9 awll g5 A I g2
SCCGL-06AUG-S3 : 34

(a) febula el (b) Tibia feaTan
c) Stapes =g d) Femurﬁv_{{

(138) Opposite the micropylar end, is the

the basal part of the ovule.
eI R P Aeaudia g, st divis & snerd
T T Ui HRa g
SCCGL-06AUG-S3 : 35
(a) hilum AT

(c) chalaza Ay

, representing

(b) funicle &ﬁ\_rﬂ?@ﬁ
(d) nucellus SSTEsH™

(139) In unicellular organisms, all functions like digestion,
respiration and reproduction are performed by a how many
cell(s)?

THd BRI WK § Sl Bt THRd Sifdds fohand S - OTe,
T TR S febaTt BIRTT (3i) gRT U o § 2
SCCGL-06AUG-S3 : 36
(a) 1 (b) 2 (©3 (d) 4
(140) Auxiliary bud develops into which of the following part of
the plant?

frafafed & ¥ 1Y & 5y Ui & wefia ool fawia gt g 2
SCCGL-08AUG-S1: 34
(@) Fruit / d

(c) Branch / RMdT

(b) Leaf / Tt
(d) Roots / SIS

(141) Xylem helps in transportatlon of which of the following?
, Fraferfed & & fros uRae & Temd FRarg ?

SCCGL-08AUG-S1 : 35

(a) Food / HISH

(b) Water / TTt

(c) Nutrients / GI¥eh ded

(d) Both food and water / HIST YT Ut GIFT

(142) Who proposed five klngdom classification?
UiE ST EZRCASICACERCTIK i
SCCGL-08AUG-S1: 36

(a) Ernst Mayr / 3T R

(b) R. H. Whittaker / 3(R. T4, fgcehR

(c) M. W. Beijerinck / TH. &, SolR-d

(d) D. 1. vanovsky / 8. 3T, SAMIGT®H

(143) Which metal is responsible for Itai-Itai disease?

3CT3- 3e13 A §IART & o ®F 11 U1 IaRar! g1 82
SCCGL-08AUG-S1 : 42
(b) Nickel / Fda

(a) Cadmium /
(c) Chromium / SIFTH (d) Mercury / ORI

(144) Who discovered the Cholera causing germ?
&9 & AT o @it foe o off 2
SCCGL-08AUG-S1: 44

(a) Filippo Pacini / TOferadt ufest

(b) Robert Koch / J[a¢ ®1

(c) M. Laveran / TH. ATRA

(d) Felix Hoffman / Wﬁw

(145) being a higher category, is the assemblage of
families which exhibit a few similar characters.

_ AR T R & SRU Pdl b THE B & NP oo &
TH T B |

SCCGL-20AUG-S3 : 34

(a) Order TTUT (3{TER)

(b) Species St @Qﬁﬁr)

(c) Genus T (19

d) Classaf (@ )

(146) Sexual reproduction in Algae that takes place through
fusion of two dissimilar size gametes is called?

3l faftrd @y ara gres! & TiaH @ ard B g1 ard dfiie s
B T B 87

SCCGL-20AUG-S3 : 35

(a) Zoospores

(b) Anisogamous

(c) Isogamous Wﬂﬁ

(d) Oogamous TRYTHDH

(147) The animals in which the body cavity is absent are known

as .

R o & R R TR TR Wi 8 IR wEa )
SCCGL-20AUG-S3 : 36

(a) Coelomates Elﬂﬁ

(b) Wild STeft

(c) Pseudocoelomates W

(d) Acoelomates \’rl"],%:l'q
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